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Find the critical points of a given function

$lane AW dzryedl SlusYl slow)

Example10

255

3.3 i ]

1(0) o) f10) =0 1S 13) f I 3 o 130ae f dnse alls Jlowo B € aaall S

s ANod Ay slaced slow) 3.10 Jlis

Y
W=

La Loa) . X ==2 .2 dzas) slae¥) US 5o 0550 f dlre ol dax3 ol caze Jo!

i) e S s

2

f’(x) _ dx(x + 2) — 2x<(1) s
(x + 2)2

2x(x + 4)

(x+2)2

—2 b ol8 aop . x = —2 Losss a¥zas et 112, X0, 2V N £60)/= 0/ i &

g ¥ =45 x=0 s Lad d> =l slac¥) gl by [ dlme B cond




Find the absolute extrema of a given function

Slans 1 dillas)l Sgraill @il slm)

(25-34)

258

il dallagll oauindl) auall 0o 25-34 o ledl 8

[7/2, 7] (b)
[-3,2] (b)
0, 4] (b)
[2, 8] (b)
[-3, 4] (b)

[-3, 3] (b)

[0, 6] (b)

3

9

-

9

2

9

[Ur 2 (a)

[-3,1] (@)

—1,3] (b) 9 [-4,-2] (a)

[ 22 (a)

[_21 0] (a)
[-2,2] (a)
[0,1] (a)

[0, 2] (a)

[0, 2] (a)

ooyl B f(y) = —3x+1
bl B f(x) =xt — 8x2 42
sl ot flx) = 27
Saaall o flx) =sinx + cosx
o6l fl) =e
RRJCH | R fO) = xPe™®
o all b fx) = ffza
poyall ga S0 =tanT@)
sl b fl) = 5o
3x

o el f(x)=x2+16

*
-

25

.26

.27
.28

25
30
.31

32

.33

34




Find the local extrema of a given function using the First Derivative test

oY1 Aial jlis plaseialy diune A1) dalomall (§ gaalll pudll Slox)

(1-10)

267

g 01855 I ol mal) (Ggny) o> (1-10 o le)) o
ol iadline Ld (oS5 Ll ol mally 3yl 5ie 210!
dclong)) Y -wi) \‘1&'” o> o Uﬁ LL!LQ;&.L‘I.aJ' SRV
Lolo Mies pwyls

1. y=x"—3x+2 2. y=x"+2x*+1

3. y=x*—-8x*+1 4, y=x —3x* - 9% +1
5. y=(x+1)7° 6. vy=(x—1)"°

7. Yy =SInx+Ccosx 8. y=sin"x

9. y=¢" ! 10. y = In(x? — 1)




Identify increasing and decreasing functions
4 i (33-38) 267
Builall A1lg dsadliell AW 294da (o LIyl

L) doglas 4915 (1..34.,) A 33-38 (L) B
Lol Motes ey y' < g gmaid] muity

2
X X
X R — 34. Y= 57
x? X
3. Y= 36. 1y =
/ x2 —4x+3 / 1 —x*
>
37, y= — 3f, y £ X1

Va2 +1 (x+1)°




Find the local extrema of a given function using the First Derivative test
Jo¥) daiiall Hlis plisuinl duas AW ddoeall (Sgaaill pudll sl

(11-20)

267

i o) 31 g (Ggay) ws (11-20 o Led) 8
RS a..\:-' B cacead] UJgY' M' ylas-) ‘aMb
ﬁg'@s#%«ﬁg'mww@‘

&U3
11. y=x* +4x° -2 12. y=x> —5x* +1
13, yP 14. y = x%e™
15. y = tan™'(x?) 16. y = sin™’ (1 — x%)
X v
17. —_ 18. =
R R

19. y = V2® + 322 20. y = x*/? +4x1/3




Learn the notion of an Inflection Point and find one
6 ‘ (1-8) 276
Walnly Cillansyl A pggie o el

STCT/ VI JUPCOQuETENJCETI RPN B JUPSTRCT [
088 ) @l s Le¥I () 155he slase Al Slod)

-

AlUa) blay sasg d.a.w'g' el ) aie Lgd

1. f(x) =x> = 3x* +4x -1 2. flx) =x*—6x>+2x+3
3. fx) =x+1/x 4. f(x) =x+3(1 —x)1/3
5. f(x) = sinx — cosx 6. f(x) =tan™'(x?)

7. f(x) = x> + 4x1/3 8. f(x) = xe™™




Determine the concavity of a function using the first and second derivatives

4319 oI cpiidiall plsaly divan DI Jaal Jlg el ) yadill oDty

(45,46)

276

iadligly duulsied) @l ) L33 464 45 G yed) 8
H'_g.a3 ¢ praid) o) 59g cdudongd) &53'"2'” M&J’ H'B‘“B
Alasny) bl

46

Y
A

201

-y
o)
|
I

45




Sketch the graph of a given function using its properties and its first and second derivative

\guiidea) Jladl kol s Ioless] Il joxia ouny

(49,52) 287

gl sLJ) Lléeo asg dly o> 49-52 (p,Lad)
) sl bl e gl
49. x=1,x=2andy=3 50. x=-1,x=1and y=0

5l. x=-1,x=1, y=-2and y =2
52. x=1, y=2and x =3




Find the antiderivative of a given function

Blase W1 ABxiall uSe sl

(5-28)

329

Elo¥) W) o> H—28 G led) L9

1 3
— 1
9./x323dx 10./5"””25Jf d
X3 10
11. /(2sinx+cosx)dx 12. /[ (3cosx — sinx)dx
4
13. /ZSecxtanxdx 14. dx
V1-—x2
15. /5sec2xdx 16. /4"."?_“‘ dx
sin” x
17 /(38’(—2)dx 18. /(4x—2ex)dx
19. /(3cosx—1/x)dx 20, /(2x'1+sinx) dx

22

24.

26.

28.

dx

42 + 4

/(2008 X — ezx)dx

4

x3(x 3 —3)dx
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Understand the notion of indefinite integral as finding an antiderivative

Al e diay d9uomall 4 JaSHI pagie o Lbyail

(35-48)

330

do g ) Gasd ) fY) DI o 35—40 (sl B

35. f'(x) = 3¢" +x, £(0) = 4
36. f'(x) = 4cosx, f(0) =3

37. f"(x) = 1222 + 2¢% f'(0) = 2, f(0) = 3
38. f"(x) = 20x° +2¢%, f'(0) = —3, £(0) = 2
39. f(t) = 2+ 2t £(0) = 2, f(3) = 2

40. f"(t) =4 + 6t, f(1) = 3, f(~1) = =2

-
= |
+a|.h_1.o.'




.b_gJ_.qu u..Jl Jadl S 0> 41—44 O Lesd ) uﬁ
LI=.1.¢J|

41. f"(x) = 3sinx + 4x? 42, f"(x) = \/E— 2 cos x

43. f"(x) = 4 —2/x° 44. f"(x) = sinx — ¢



s gl el @il eriS EhaiR) Gif ses
arassaliias ol al)s el sl aals ) sl s
. 5(0) = 0 98 Slan¥) adsally 0(f) =3¢ -2

a(t) =3sint+1 o g lud) s cols 13) aslSd) dlad) sas
g Slan¥) 2950l5 0(0) =0 o aslan¥) dgomid) de il
.s(0) =4

al) = 2 +1 o gl dls colS 13) aalSe)) Ala)) sas

s(0)=0

45

.46

A7

.48
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Use the sigma notation to compute basic summation

w'l &ob,r.a.‘l Jb&l}l [PE o f}.‘@.ﬂ“ ) PUJ‘!'.'&.N'I

(9-18)

337

i._iLa.u:qJ ﬁg.g_‘uug.” 4.:;‘33 P..\ﬁ-ﬂi...u‘ 9—18 LHJLgSJ' uﬁ

70
9. ) (3i—1)
1;]1

11. ) (4-7)

i=1
100

13. Z(nz —3n + 2)

n=1

30
15. Y [(i—3)*+i-3]

17. Z(k2 —3)

k=3

10

12

14.

16.

18.

- 9-oo]
. ) (Bi—4)
50
: Z(s — i)

140

Z(H2+2n—4)

n=1

20

D .(i=3)(i+3)

1=4
1n

D (i +5)

k=0
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Estimate the area under a curve on a given interval using rectangles
(5-10) 344

ol plisiusly Baxa 78 § A goxiall Cad dxlunall

e o) e dslugd) 59 5—10 cpyled) B

=

(a) pudd] dclady Mdatiwe 7 plusiwly sUasell & )
dlgd) ddads () caaiied) ddadd (b) (5 mud) Dlgd) ddass
EPR]
5. y=x*+1on[0,1],n=16
6. y=x*+1on|0,2],n=16
7. y=+vx+2on[l,4]n=16
8. y=e*on[-1,1],n=16
9. y=cosxon [0,#z/2],n =50
10. y=x>—-1on[-1,1],n =100




39ammall JaEI pailas e Oyl

Learn the properties of definite integrals

; fﬁf(x)dx i) (249 23 (piid poid ) gﬁ

23'f(x)={4 Fa 1

24. f(x) =

2 x <213
Ix ai=2 1B




Apply the Integral Mean Value Theorem
S8 § gl Aaghl &y 55 e

(55-58) 367

e Aol ddawgied) dead) o 53—D8 (pled) B
allasgl) 3‘,:'.3.”

= 2x — 2x%,[0, 1]




Use substitution to compute integrals
(5-16) 376
LG Aoy s gasl] pliseil

dgaed) e JolSU) Ao u 30 JI 5 o moyled] o2

5. /xg’\/x4+3dx 6. /\/1+10xdx

7./ i dx 8. /sin3xcosxdx
\/COoS x

9. /t2 cos t>dt 10. /sint(cost+3)3/4dt

11. /xe“"'z“dx 12. /ex e* + 4 dx

13. / i\//idx 14. / cosg/x) dx
X

|
15. / \/ o dx 16. sec’ xy/tanx dx

X
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Solve economical and scientific problems on exterema

Sl el e dpaley d3Latdl Sl J>

Example9.1,2

307

d o coulsvigd dasd) dalsd) fLdsa 9.1 L

C(x) = 0.02x? + 2x + 4000

22052)) 20D dog) dicae caloniie Cpo Basmg X g ddnao (pa,ull) 2alSzll L) ga

Basg 100 zlo¥ @2l aalSalldysyl3gx 210050 cndsas))

:anlSall alls dnzdie o das) anlSal) alls oo
C'(x) = 0.04x + 2

oy -3a>g JS) pal,s C'(100) =4 +2 =6 o x =100 J L)) aalSa)) by
Load (S13L0) .C(100) — C(99) (yaSiws 100 sue puel) dlaal) 2alSa)) glo . g 5] 2l

C(100) — C(99) = 200 + 200 + 4000 — (196.02 + 198 + 4000)

= 4400 — 4394.02 = 5.98 pal,>

dsas dalSzll of Lasl das VARD 6 Z3I001 dmael) 221830 130, b o) N00E £




LS55 el AalSall dawgie ga zls¥) Julma) clS,ad) Lpeasiis o2l o, 53] dweS)
sa 12 glaf 2l o) i 15) e oF 3 et U5 ol Z4LS21) dagia dipn
Alexr] susms ‘f.l"..-. [y ey JSERED) (%) e 1< <5 AED 120
s (o dalSal) dawgio sasn Jllby X (M5 o joliad) sae Clx) s oo anlSal)

Cffe) = %x)



C(x) = 0.02x% + 2x + 4000

— . 0.02x% + 2x + 4000

Clx) : = 0.02x + 2 + 4000x7 !

Load x> 0 Jlowe) B s, slael sloul Tas Lats .C(O)Y g saal) doall slou¥
C (x) = 0.02 —4000x2 =0 13|
4000x~2% = 0.02 o

4000 _
0.02

2e>9l) o) saall ols x> 0 o Le X = £1/200,000 &~ 447 4 22 = 200,000 L

OS 13 C (1) > 09 x <447 5 15) T’ () < 0 -cl3 ) aLa¥l .x = 447 Ly ,u o

X i) g e ]l o2 dnllad) g iall deall gBse ga gl daall lia ole 1) X > 447

B -rial) aaal (497 5 a0 b)) RaBN 1aagze adlaT, BNINEAL: v o

iy loni Calanig ZalSal) Jawgied (g pind] dgal!

9.2 Jlis
o) ot Gle

DS FVORTA PETPS VRryvmy J T\ 1S 1 KX (P9N5 NTP . TN 8 Wl

LT R, (0, <| B 0LY ] ORI TR L L 0 I

BB W 8<- LR, 2118 : Nad

(-

—t——F——F—F+—+>x
100 200 300 400 500 600 700



Solve mathematical and real-life problems on related rates
17 (19-26) 304
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Write the equation of a tangent line at a given point to a function defined as a definite integral (39-42) 366-367

S JoBGS Al yas AW Auas dladl s eleal] oz Aolae LUS

xJ dlase ded die Lwleed) Walae as 39—42 (4, Led) 2

39. y=/ sin V2 +z2dt,x=0
0

40. y—/ In (# + 2t + 2) dt, x = =1

41. y = / s(zt’) dt, x = 2
2

/ et dt x =0
0

42. y
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Use substitution to compute integrals

LB slom gl plisuiuwl

(5-40)

376

dgae) pte JolSU) ded oo 30 (J) D (o (s yled) o

5. /xSVx4+3dx
7/ Sin X o
\/cos x
9. /tzcostSdt

11. /xex2+1dx

6. /V1+10xdx

8. / sin” x cos x dx
10. / sin f(cos t + 3)>/*dt

12. /ex\/€x+4dx




13.

15.

| k78

19,

21

/
-/

x(Inx + 1)2

(sin™" x)?

V1 —x2

dx

14.

16

18.

20.

22.

Y2

/ cos(1/x) ”

3 /sechVtanxdx
v
d
/02+4 0
/taandx
/xz sec? x°dx




23,

24,

25,

26.

27,

28,




dgaed) JolSU) ded o 40 J) 31 (o Goled) SO

2 3
31. / xVx?+1dx 32. / x sin(zx?) dx
0 1
1 f 2
33, / dt 34, / 2ot dt
1 (2 +1)? 0
2 X 2 7
35. / C  ix 36. / ¢ dx
o 1+e¥ o 1+¢
o e i
37. / cot x dx 38. / — dx
/4 1 X
o 1 . X
39. / 2T iy 40. dx
1 4/x 0 yx2+1
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